Linear Algebra (II) Exercise (Week 3)
March 07, 2025
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(a) 41* Cramer’s Rule &5 > = g2 Bx= | 2
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(b) & B &1 cofactor matrix, adjoint matrix ™ % inverse matrix.
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(a) f1* #B fFipi2 @M detA 5 Fikc

(b) #A 2732 A7l % - B entry ¥ 5 ¥k %P detA = £1.
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(a) & A 5 upper triangular, B| adj(A) 7= 5 upper triangular.
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(d) #

.M T er g #icd_F 5 linear transformation ? % S AL O B Hlmp .

% symmetric, B| adj(A) 7% 5 symmetric.
® 5 nps> s fl (BA)(adj(A)adj(B)) = det(AB)I,
® % n I invertible matrix > B adj(AB) = adj(B)adj(A).
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(a) T :R> = R3, (x,y,2) — (|x], —z,¥).

(b) * %;BEM,,, £ T : M, — M,, A— AB?>+ BA.

(c) % ?;BeMn, £ T3: M, — M,, A— AB+ BAZ.

(d) P, 5 = #c > n+1 7% 3 55972 vector space, & Ty: P, — Py,

() = £(0) +xf (x) 4+ f ().



